A ol B 210,
©) 240
- k=)
x —
S, 230+ =
= >
2R = 200«%\/
3 i g
£ £
210+
200
; , 190 . ; , .
0 2000 4000 0 500 1000 1500 2000
Time (ns) Time (ns)
C 34 D 200 -
180
I=) E=)
-, —
x x
160
2 2>
= =
o e
© o 140
= 1 —
£ c
120
0 T T T T 100 T T T
0 4000 8000 12000 16000 0 1000 2000 3000
Time (ns) Time (ns)

Supplementary Fig. S5. DEER and spin echo signals. (A) DEER signal for UL31(C150) jn
membranes. (B) DEER signal for UL34(174-194) in membranes (C) Spin echo signal for UL31(C1-50)
in membranes. (D) DEER signal for UL31(C1-50)/UL34(174-194) in solution.



